Dynamic Systems and Applications 23 (2014) 735-748

ON THE OSCILLATION OF SECOND ORDER NONLINEAR NEUTRAL DYNAMIC EQUATIONS WITH DISTRIBUTED DEVIATING ARGUMENTS ON TIME-SCALES

SAID R. GRACE, ELVAN AKIN, AND CAN M. DIKMEN

Department of Engineering Mathematics, Faculty of Engineering Cairo University, Orman, Gizza 12221, Egypt Department of Mathematics and Statistics, Missouri University of Science and Technology, Rolla, MO 65409, USA Bulent Ecevit Universitesi, Fen-Edebiyat Fakultesi, Matematik Bolumu 67100 Zonguldak, Turkey

Dedicated to Professor John R. Graef on the occasion of his 70th birthday.

ABSTRACT. In this paper, we investigate some new oscillation criteria and give sufficient conditions to ensure that all solutions of second order nonlinear neutral dynamic equations with distributed deviating arguments are oscillatory on a time-scale \mathbb{T} , via comparison with second order nonlinear dynamic equations whose oscillatory character are known and extensively studied in the literature.

AMS (MOS) Subject Classification. 34C10, 39A10.

1. INTRODUCTION

The purpose of this paper is to establish some oscillation criteria for a second order nonlinear neutral dynamic equation

(1.1)
$$\left(a(t) \left[\left(x(t) + \int_{a_1}^{b_1} F_1(t, \tau_1, x(\theta_1(t, \tau_1))) \bigtriangleup \tau_1 \right)^{\bigtriangleup} \right]^{\alpha} \right)^{\bigtriangleup} + \int_{a_2}^{b_2} F_2(t, \tau_2, x(\theta_2(t, \tau_2))) \bigtriangleup \tau_2 = 0$$

on a time scale \mathbb{T} which is unbounded above.

Throughout this paper we assume that

(i) $\alpha \geq 1$ is a quotient of positive odd integers, $0 < a_i < b_i$, i = 1, 2;

(ii) $a: \mathbb{T} \to (0, \infty)$ is rd-continuous and

(1.2)
$$\int^{\infty} a^{-1/\alpha} (s) \, \Delta s = \infty;$$

Received September 2013

1056-2176 \$15.00 ©Dynamic Publishers, Inc.

- (iii) $\theta_i(t,\tau_i): \mathbb{T} \times [a_i, b_i] \to \mathbb{T}, \ \theta_i(t,\tau_i) \leq t \text{ for } \tau_i \in [a_i, b_i], \ \theta_i(t,\tau_i) \to \infty \text{ as } t \to \infty,$ $i = 1, 2 \text{ and } \theta_2(t,\tau_2) \text{ is decreasing with respect } \tau_2;$
- (iv) $F_i(t, \tau_i, x) : \mathbb{T} \times [a_i, b_i] \times \mathbb{R} \to \mathbb{R}, i = 1, 2$ are continuous, assume that there exist a constant λ which is the ratio of positive odd integers and the functions $P_i : \mathbb{T} \times [a_i, b_i] \to (0, \infty), i = 1, 2$ are rd-continuous such that

(1.3)
$$\begin{cases} F_1(t,\tau_1,x) \le P_1(t,\tau_1)x & \text{for } x > 0, \quad t \in \mathbb{T}, \, \tau_1 \in [a_1,b_1] \\ F_1(t,\tau_1,x) \ge P_1(t,\tau_1)x & \text{for } x < 0, \quad t \in \mathbb{T}, \, \tau_1 \in [a_1,b_1] \end{cases}$$

and

(1.4)
$$\begin{cases} F_2(t,\tau_2,x) \ge P_2(t,\tau_2) x^{\lambda} \text{ for } x > 0, & t \in \mathbb{T}, \ \tau_2 \in [a_2,b_2] \\ F_2(t,\tau_2,x) \le P_2(t,\tau_2) x^{\lambda} \text{ for } x < 0, & t \in \mathbb{T}, \ \tau_2 \in [a_2,b_2]. \end{cases}$$

We set

(1.5)
$$y(t) := x(t) + \int_{a_1}^{b_1} F_1(t, \tau_1, x(\theta_1(t, \tau_1))) \Delta \tau_1$$

A nontrivial function x(t) is said to be a solution of equation (1.1) if $y(t) \in C^1_{rd}([t_x, \infty), \mathbb{R})$ and $a(y^{\Delta})^{\alpha}(t) \in C^1_{rd}([t_x, \infty), \mathbb{R})$ for $t_x \geq t_0$. A solution of equation (1.1) is called oscillatory if it has no last zero. Otherwise, a solution is called nonoscillatory.

The study of dynamic equations on time-scales which goes back to its founder Hilger [8] as an area of mathematics that has received a lot of attention. It has been created in order to unify the study of differential and discrete equations.

Recently, there has been an increasing interest in studying the oscillatory behavior of all orders of dynamic equations on time-scales, see [3–6]. With respect to dynamic equations on time-scales it is fairly new topic for general basic ideas and background, we refer to [2].

It appears that very little is known regarding the oscillation of second order nonlinear neutral dynamic equations with distributed deviating arguments on time-scales, see [3]. Our aim here is to establish some new criteria for the oscillation of equation (1.1) via comparison with second order nonlinear dynamic equations whose oscillatory character are known. We also provide some sufficient conditions guaranteeing the oscillatory behavior of all solutions of equation (1.1). The results are new for the special cases when $\mathbb{T} = \mathbb{R}$ and $\mathbb{T} = \mathbb{Z}$.

2. Preliminaries

We shall employ the following lemmas.

Consider the inequality

(2.1)
$$\left(a\left(x^{\Delta}\right)^{\alpha}\right)^{\Delta}(t) + Q(t)x^{\lambda}(g(t)) \leq 0$$

where a, Q are positive real valued, rd-continuous function on \mathbb{T} and a satisfies condition (1.2), $g: \mathbb{T} \to \mathbb{T}$ is a rd-continuous function, $g(t) \leq t$ and $g(t) \to \infty$ as $t \to \infty$, α and λ are ratios of positive odd integers, $\alpha \geq 1$.

Now we present the following lemma.

Lemma 2.1. If inequality (2.1) has an eventually positive solution, then the equation

(2.2)
$$\left(a\left(x^{\Delta}\right)^{\alpha}\right)^{\Delta}(t) + Q\left(t\right)x^{\lambda}\left(g\left(t\right)\right) = 0$$

also has an eventually positive solution.

Proof. Let x(t) be an eventually positive solution of inequality (2.1). It is easy to see that $x^{\Delta}(t) > 0$ eventually, see [5]. Let t_0 be sufficiently large so that x(t) > 0, x(g(t)) > 0 and $y(t) := a(t) (x^{\Delta}(t))^{\alpha}$ for $t \in [t_0, \infty)_{\mathbb{T}}$. Then in view of

$$x(t) = x(t_0) + \int_{t_0}^t \left(\frac{y(s)}{a(s)}\right)^{1/\alpha} \Delta s$$

inequality (2.1) becomes

(2.3)
$$y^{\Delta}(t) + Q(t) \left(x(t_0) + \int_{t_0}^{g(t)} \left(\frac{y(s)}{a(s)} \right)^{1/\alpha} \Delta s \right)^{\lambda} \le 0.$$

Integrating (2.3 from t to $u \ge t \ge t_0$ and letting $u \to \infty$, we have

$$y(t) \ge G(t, y(t)) \text{ for } t \in [t_0, \infty)_{\mathbb{T}},$$

where

$$G(t,y) := \int_{t}^{\infty} Q(\nu) \left(x(t_0) + \int_{t_0}^{g(\nu)} \left(\frac{y(s)}{a(s)} \right)^{1/\alpha} \Delta s \right)^{\lambda} \Delta \nu,$$

Now, we define a sequence of successive approximations $\{w_i(t)\}\$ as follows:

$$w_0(t) = y(t)$$

 $w_{j+1}(t) = G(t, w_j(t)), \quad j = 0, 1, 2, \dots$

It is easy to show that

$$0 < w_j(t) \le y(t)$$
 and $w_{j+1}(t) \le w_j(t)$, $j = 0, 1, 2, ...$

Then, the sequence $\{w_j(t)\}\$ is non-increasing and bounded for each $t \ge t_0$. This means, we may define $w(t) := \lim_{j\to\infty} w_j(t) \ge 0$. Since,

$$0 \le w(t) \le w_j(t) \le y(t)$$
 for all $j \ge 0$, we find that
$$\int_{t_0}^t w_j(s) \, \triangle s \le \int_{t_0}^t y(s) \, \triangle s.$$

By the Lebesgue dominated convergence theorem on time-scale, one can easily find

$$w\left(t\right) = G\left(t, w\left(t\right)\right).$$

Therefore,

$$w^{\Delta}(t) = -Q(t)\left(x(t_0) + \int_{t_0}^{g(t)} \left(\frac{w(s)}{a(s)}\right)^{1/\alpha} \Delta s\right)^{\lambda} := -Q(t) m^{\lambda}(g(t)),$$

where

$$m(t) = x(t_0) + \int_{t_0}^t \left(\frac{w(s)}{a(s)}\right)^{1/\alpha} \Delta s.$$

Thus

$$m(t) > 0$$
 and $a(t) (m^{\Delta}(t))^{\alpha} = w(t)$ for $t \ge t_0$.

Equation (2.4) then gives

$$\left(a\left(t\right)\left(m^{\Delta}\left(t\right)\right)^{\alpha}\right)^{\Delta} + Q\left(t\right)m^{\lambda}\left(g\left(t\right)\right) = 0.$$

Hence equation (2.2) has a positive solution m(t). This completes the proof.

Lemma 2.2 ([6]). Suppose that $|x|^{\Delta} > 0$ on $[t_0, \infty)_{\mathbb{T}}$, $\lambda > 0$ and $\lambda \neq 1$. Then

$$\frac{|x|^{\Delta}}{(|x^{\sigma}|)^{\lambda}} \leq \frac{\left(|x|^{1-\lambda}\right)^{\Delta}}{1-\lambda} \leq \frac{|x|^{\Delta}}{(|x|)^{\lambda}} \text{ on } [t_0,\infty)_{\mathbb{T}}.$$

Lemma 2.3 ([7]). If X and Y are nonnegative and $\beta > 1$, then

$$X^{\beta} - \lambda X Y^{\beta - 1} + (\lambda - 1) Y^{\beta} \ge 0,$$

where equality holds if and only if X = Y.

Lemma 2.4 ([2]). Let $f : \mathbb{R} \to \mathbb{R}$ be continuously differentiable and suppose $g : \mathbb{T} \to \mathbb{R}$ is delta differentiable. Then $f \circ g : \mathbb{T} \to \mathbb{R}$ is delta differentiable and the formula

$$(f \circ g)^{\bigtriangleup}(t) = \left\{ \int_0^1 \left(f'(g(t)) + h\mu(t) g^{\bigtriangleup}(t) \right) dh \right\} g^{\bigtriangleup}(t)$$

holds.

Lemma 2.5 ([1]). Assume $x \in C_{rd}([t_0, \infty)_{\mathbb{T}}, \mathbb{R})$.

If
$$x(t) > 0, x^{\Delta}(t) \ge 0$$
 on $[t_0, \infty)_{\mathbb{T}}$ and $\lambda > 1$, then
$$\int_t^{\infty} \frac{x^{\Delta}(s)}{(x^{\sigma}(s))^{\lambda}} \Delta s < \infty, \ t \in [t_0, \infty)_{\mathbb{T}}$$

3. Main results

.

We will employ the following notation

(3.1)
$$Q(t) := \int_{a_2}^{b_2} P_2(t,\tau_2) \left(1 - \int_{a_1}^{b_1} P_1(\theta_2(t,\tau_2),\tau_1) \, \Delta \tau_1 \right)^{\lambda} \Delta \tau_2$$

and

(3.2)
$$g(t) := \theta_2(t, b_2).$$

Now we present our first result.

Theorem 3.1. Let conditions (i)–(iv) hold and

(3.3)
$$0 \le \int_{a_1}^{b_1} P_1(t,\tau_1) \, \Delta \tau_1 < 1.$$

If the equation

(3.4)
$$\left(a\left(t\right)\left(y^{\bigtriangleup}\left(t\right)\right)^{\alpha}\right)^{\bigtriangleup} + Q\left(t\right)y^{\lambda}\left(g\left(t\right)\right) = 0$$

where Q and g are as in (3.1) and (3.2), is oscillatory, then equation (1.1) is oscillatory.

Proof. Let x(t) be a nonoscillatory solution of equation (1.1), say x(t) > 0 for $t \ge t_0$. Then $x(\theta_i(t,\tau_i)) > 0$ for $t \ge t_1$ for some $t_1 \ge t_0$, $b_i \ge \tau_i \ge a_i$, i = 1, 2. In the case when x(t) is negative the proof is similar. In view of (1.1) and (1.3)–(1.5), we see that

(3.5)
$$(a(t)(y^{\Delta}(t))^{\alpha})^{\Delta} + \int_{a_2}^{b_2} P_2(t,\tau_2) (x(\theta_2(t,\tau_2)))^{\lambda} \Delta \tau_2 \le 0 \text{ for } t \ge t_1.$$

It is easy to see that y(t) > 0 for $t \ge t_1$. Now we claim that $y^{\triangle}(t) > 0$ eventually. If not, then there exists a $t_2 \ge t_1$ such that $a(y^{\triangle})^{\alpha}(t_2) = c < 0$. Thus,

$$a\left(y^{\bigtriangleup}\right)^{\alpha}(t) \leq c \text{ for } t \geq t_2,$$

or

$$y^{\Delta}(t) \le \left(\frac{c}{a(t)}\right)^{1/\alpha}$$
 for $t \ge t_2$.

Integrating this inequality from t_2 to t and using condition (1.2) we obtain a contradiction to the fact that y(t) > 0 for $t \ge t_2$. Therefore, one can easily have

(3.6)
$$y(t) > 0 \text{ and } y^{\Delta}(t) > 0 \text{ for } t \ge t_2$$

From (1.3), we get

$$\begin{aligned} x\left(t\right) &= y\left(t\right) - \int_{a_{1}}^{b_{1}} F_{1}\left(t,\tau_{1},x\left(\theta_{1}\left(t,\tau_{1}\right)\right)\right) \bigtriangleup \tau_{1} \\ &\geq y\left(t\right) - \int_{a_{1}}^{b_{1}} P_{1}\left(t,\tau_{1}\right)x\left(\theta_{1}\left(t,\tau_{1}\right)\right) \bigtriangleup \tau_{1} \\ &= y\left(t\right) - \int_{a_{1}}^{b_{1}} P_{1}\left(t,\tau_{1}\right) \left[y\left(\theta_{1}\left(t,\tau_{1}\right)\right) - \int_{a_{1}}^{b_{1}} F_{1}\left(t,\tau_{1},x\left(\theta_{1}\left(t,\tau_{1}\right)\right)\right) \bigtriangleup \tau_{1}\right] \bigtriangleup \tau_{1} \\ &\geq y\left(t\right) - \int_{a_{1}}^{b_{1}} P_{1}\left(t,\tau_{1}\right)y\left(\theta_{1}\left(t,\tau_{1}\right)\right) \bigtriangleup \tau_{1}. \end{aligned}$$

Using the fact that the function y(t) is increasing for $t \ge t_2$, we have

(3.7)
$$x(t) \ge \left(1 - \int_{a_1}^{b_1} P_1(t,\tau_1) \, \bigtriangleup \tau_1\right) y(t) \text{ for } t \ge t_2.$$

Using (3.7) in (2.1), we get

$$\left(a\left(t\right)\left(y^{\Delta}\left(t\right)\right)^{\alpha}\right)^{\Delta} + \int_{a_{2}}^{b_{2}} P_{2}\left(t,\tau_{2}\right)\left(1 - \int_{a_{1}}^{b_{1}} P_{1}\left(\theta_{2}\left(t,\tau_{2}\right),\tau_{1}\right) \Delta\tau_{1}\right)^{\lambda} \left(y\left(\theta_{2}\left(t,\tau_{2}\right)\right)\right)^{\lambda} \Delta\tau_{2} \leq 0$$

for $t \ge t_2$. Using the fact that θ_2 is decreasing in the second variable and (3.1) and (3.2) we obtain

(3.8)
$$\left(a\left(t\right)\left(y^{\Delta}\left(t\right)\right)^{\alpha}\right)^{\Delta} + Q\left(t\right)y^{\lambda}\left(g\left(t\right)\right) \leq 0 \text{ for } t \geq t_2.$$

By Lemma 2.1, the equation

$$\left(a\left(t\right)\left(y^{\Delta}\left(t\right)\right)^{\alpha}\right)^{\Delta} + Q\left(t\right)y^{\lambda}\left(g\left(t\right)\right) = 0$$

has a nonoscillatory solution. But this is impossible by the hypothesis. This completes the proof. $\hfill \Box$

For all sufficiently large $t_0 \ge 0$, we set

(3.9)
$$\beta(t) = \frac{\int_{t_0}^{g(t)} a^{-1/\alpha}(s) \Delta s}{\int_{t_0}^t a^{-1/\alpha}(s) \Delta s} \text{ and } \eta(t) = \left(\int_{t_0}^t a^{-1/\alpha}(s) \Delta s\right)^{-1} \text{ for } t \ge t_0.$$

Theorem 3.2. Let conditions (i)–(iv) hold and (3.3) hold. Assume that there exists a positive non-decreasing, delta-differentiable function $\delta(t)$ such that for all sufficiently large $t_0 \geq 0$ we have

(3.10)
$$\limsup_{t \to \infty} \int_{t_1}^t \left[\beta^{\lambda}(s) \,\delta(s) \,Q(s) - \frac{\left(\frac{\alpha}{\lambda}\right)^{\alpha} a(s) \left(\delta^{\Delta}(s)\right)^{\alpha+1}}{\left(\alpha+1\right)^{\alpha+1} \left(\gamma(s) \,\delta(s)\right)^{\alpha}} \right] \Delta s = \infty$$

for $t_1 \ge t_0$, where g and Q are as (2.1) and (2.1),

(3.11)
$$\gamma(t) = \begin{cases} c_1, & c_1 \text{ is some positive constant if } \lambda > \alpha \\ 1, & \text{if } \lambda = \alpha \\ c_2 \left(\eta^{\sigma}(t)\right)^{\frac{\alpha-\lambda}{\alpha}}, & c_2 \text{ is some positive constant if } \lambda < \alpha. \end{cases}$$

Then the equation (1.1) is oscillatory.

Proof. Let x(t) be a nonoscillatory solution of equation (1.1), say x(t) > 0. Then $x(\theta_i(t,\tau_i)) > 0$ for $t \ge t_1$ for some $t_1 \ge t_0$, $b_i \ge \tau_i \ge a_i$, i = 1, 2. Proceeding as in the proof of Theorem 3.1 we obtain the inequality (3.8). We set

(3.12)
$$W(t) = \frac{\delta(t) a(t) (y^{\Delta}(t))^{\alpha}}{y^{\lambda}(t)} \text{ for } t \ge t_2.$$

Then we get

$$W^{\Delta}(t) = \left(\frac{\delta(t)}{y^{\lambda}(t)}\right) \left(a(t)\left(y^{\Delta}(t)\right)^{\alpha}\right)^{\Delta} + \left(a(t)\left(y^{\Delta}(t)\right)^{\alpha}\right)^{\sigma} \left(\frac{\delta(t)}{y^{\lambda}(t)}\right)^{\Delta}$$
$$\leq -\delta(t)Q(t)\left(\frac{y(g(t))}{y(t)}\right)^{\lambda} + \delta^{\Delta}(t)\frac{\left(a(t)\left(y^{\Delta}(t)\right)^{\alpha}\right)^{\sigma}}{y^{\lambda}(\sigma(t))}$$
$$(3.13) \qquad -\delta(t)\frac{\left(a(t)\left(y^{\Delta}(t)\right)^{\alpha}\right)^{\sigma}\left(y^{\lambda}(t)\right)^{\Delta}}{y^{\lambda}(t)y^{\lambda}(\sigma(t))}.$$

Using the fact that y(t) is increasing and $a(t)(y^{\triangle}(t))^{\alpha}$ is non-increasing for $t \ge t_2$ we have

$$y(g(t)) > y(g(t)) - y(t_2) = \int_{t_2}^{g(t)} a^{-1/\alpha} (s) (a(s) (y^{\Delta}(s))^{\alpha})^{1/\alpha} \Delta s$$
$$\ge a^{1/\alpha} (g(t)) y^{\Delta} (g(t)) \int_{t_2}^{g(t)} a^{-1/\alpha} (s) \Delta s,$$

or

(3.14)
$$\frac{a^{1/\alpha}\left(g\left(t\right)\right)y^{\Delta}\left(g\left(t\right)\right)}{y\left(g\left(t\right)\right)} \le \left(\int_{t_2}^{g(t)} a^{-1/\alpha}\left(s\right)\Delta s\right)^{-1}.$$

Also, we find

$$y(t) = y(g(t)) + \int_{g(t)}^{t} a^{-1/\alpha}(s) \left(a(s)\left(y^{\Delta}(s)\right)^{\alpha}\right)^{1/\alpha} \Delta s$$
$$\leq y(g(t)) + a^{1/\alpha}(g(t))\left(y^{\Delta}(g(t))\right) \int_{g(t)}^{t} a^{-1/\alpha}(s) \Delta s$$

and so

(3.15)
$$\frac{y(t)}{y(g(t))} \le 1 + \frac{a^{1/\alpha}(g(t))y^{\Delta}(g(t))}{y(g(t))} \int_{g(t)}^{t} a^{-1/\alpha}(s) \Delta s.$$

Using (3.14) in (3.15) we have

(3.16)
$$\frac{y(g(t))}{y(t)} \ge \frac{\int_{t_2}^{g(t)} a^{-1/\alpha}(s) \, \Delta s}{\int_{t_2}^t a^{-1/\alpha}(s) \, \Delta s} := \beta(t) \,, \ t \ge t_2.$$

By applying the chain rule on time scales Lemma 2.4, we have

(3.17)
$$(y^{\lambda}(t))^{\Delta} = \lambda y^{\Delta}(t) \int_{0}^{1} \left[y(t) + h\mu(t) y^{\Delta}(t) \right]^{\lambda - 1} dh$$
$$\geq \begin{cases} \lambda (y^{\sigma}(t))^{\lambda - 1} y^{\Delta}(t) &, 0 < \lambda \leq 1 \\ \lambda (y(t))^{\lambda - 1} y^{\Delta}(t) &, \lambda > 1. \end{cases}$$

Using (3.16) and (3.17) in (3.13) and for all $\lambda > 0$ we obtain

$$\begin{split} W^{\Delta}(t) &\leq -\delta(t) Q(t) \beta^{\lambda}(t) + \delta^{\Delta}(t) \left(\frac{W(t)}{\delta(t)}\right)^{\sigma} \\ &- \lambda \delta(t) \frac{\left(a(t) \left(y^{\Delta}(t)\right)^{\alpha}\right)^{\sigma}}{y^{\sigma}(t)^{\lambda+1}} y^{\Delta}(t) \\ &\leq -\delta(t) \beta^{\lambda}(t) Q(t) + \delta^{\Delta}(t) \left(\frac{W(t)}{\delta(t)}\right)^{\sigma} - \lambda \delta(t) \frac{y^{\Delta}(t)}{y^{\sigma}(t)} \left(\frac{W(t)}{\delta(t)}\right)^{\sigma}. \end{split}$$

Using the fact that $a(t)(y^{\Delta}(t))^{\alpha}$ is decreasing for $t \geq t_2$ we get

$$\frac{y^{\Delta}(t)}{y^{\sigma}(t)} \ge \frac{\left(\left(a\left(t\right)\left(y^{\Delta}\left(t\right)\right)^{\alpha}\right)^{\sigma}\right)^{1/\alpha}}{a^{1/\alpha}\left(t\right)\left(y^{\sigma}\left(t\right)\right)^{\lambda/\alpha}}\left(y^{\sigma}\left(t\right)\right)^{\frac{\lambda-\alpha}{\alpha}}$$
$$= \left(\frac{W^{\sigma}\left(t\right)}{\delta^{\sigma}\left(t\right)}\right)^{1/\alpha} a^{-1/\alpha}\left(t\right)\left(y^{\sigma}\left(t\right)\right)^{\frac{\lambda-\alpha}{\alpha}} \text{ for } t \ge t_{2.}.$$

Thus, for $\lambda > 0$ we obtain

$$(3.18) \quad W^{\Delta}(t) \leq -\delta(t) \,\beta^{\lambda}(t) \,Q(t) + \delta^{\Delta}(t) \left(\frac{W(t)}{\delta(t)}\right)^{\sigma} -\lambda\delta(t) \,a^{-1/\alpha}(t) \left(\left(\frac{W(t)}{\delta(t)}\right)^{\sigma}\right)^{\frac{\alpha+1}{\alpha}} (y^{\sigma}(t))^{\frac{\lambda-\alpha}{\alpha}} \text{ for } t \geq t_{2.}.$$

Now, we consider the following three cases:

Case (I) : $\lambda > \alpha$.

In this case, since $y^{\triangle}(t) > 0$ for $t \ge t_2$, then there exists a $t_3 \ge t_2$ such that $y^{\sigma}(t) \ge y(t) \ge b > 0$ for $t \ge t_3$. This implies that

$$(y^{\sigma}(t))^{\frac{\lambda-\alpha}{\alpha}} \ge b^{\frac{\lambda-\alpha}{\alpha}} := c_1.$$

Case (II) : $\lambda = \alpha$.

In this case, we see that $(y^{\sigma}(t))^{\frac{\lambda-\alpha}{\alpha}} = 1.$

Case (III) : $\lambda < \alpha$.

Since $a(t)(y^{\Delta}(t))^{\alpha}$ is decreasing, then there exists a constant $b_1 > 0$ such that

$$y^{\Delta}(t) \leq b_1^{1/\alpha} a^{-1/\alpha}(t) \text{ for } t \geq t_2.$$

Integrating this inequality from t_2 to t, we have

$$y(t) \le y(t_2) + b_1^{1/\alpha} \int_{t_2}^t a^{-1/\alpha}(s) \Delta s.$$

Thus, there exist a constant $b_2 > 0$ and $t_3 \ge t_2$ such that

$$y(t) \le b_2 \eta^{-1}(t)$$
 for $t \ge t_3$,

and hence

$$(y^{\sigma}(t))^{\frac{\lambda-\alpha}{\alpha}} \ge c_2(\eta^{\sigma})^{\frac{\alpha-\lambda}{\alpha}}(t) \text{ for } t \ge t_3,$$

where $c_2 = (b_2)^{\frac{\lambda-\alpha}{\alpha}}$.

Using these three cases and definitions of $\gamma(t)$ in (3.11), we get

(3.19)
$$W^{\Delta}(t) \leq -\delta(t) \beta^{\lambda}(t) Q(t) + \delta^{\Delta}(t) \left(\frac{W(t)}{\delta(t)}\right)^{\sigma} - \lambda \delta(t) a^{-1/\alpha}(t) \gamma(t) \left(\left(\frac{W(t)}{\delta(t)}\right)^{\sigma}\right)^{\frac{\alpha+1}{\alpha}} \quad \text{for } t \geq t_3.$$

Define

$$X = (\lambda \gamma (t) \,\delta (t))^{\frac{\alpha}{\alpha+1}} \,a^{\frac{-1}{\alpha+1}} (t) \left(\frac{W(t)}{\delta (t)}\right)^{\sigma}, \ \beta = \frac{\alpha+1}{\alpha} > 1,$$
$$Y = \left(\frac{\alpha}{\alpha+1}\right)^{\alpha} \left(\frac{\delta^{\bigtriangleup} (t)}{\delta^{\sigma} (t)}\right)^{\alpha} \left[(\lambda \gamma (t) \,\delta (t))^{-\frac{\alpha}{\alpha+1}} \,\delta^{\sigma} (t) \,a^{\frac{1}{\alpha+1}} (t) \right]^{\alpha}$$

and using Lemma 2.3 we obtain

$$(3.20) \quad \lambda \gamma(t) \,\delta(t) \,a^{-1/\alpha}(t) \left(\left(\frac{W(t)}{\delta(t)} \right)^{\sigma} \right)^{\frac{\alpha+1}{\alpha}} - \delta^{\Delta}(t) \left(\frac{W(t)}{\delta(t)} \right)^{\sigma} \\ \geq -\frac{\left(\frac{\alpha}{\lambda} \right)^{\alpha} a(t) \left(\delta^{\Delta}(t) \right)^{\alpha+1}}{(\alpha+1)^{\alpha+1} \left(\gamma(t) \,\delta(t) \right)^{\alpha}} \text{ for } t \geq t_3.$$

Using (3.20) in (3.19) we have

(3.21)
$$W^{\Delta}(t) \leq -\delta(t) \beta^{\lambda}(t) Q(t) + \frac{\left(\frac{\alpha}{\lambda}\right)^{\alpha} a(t) \left(\delta^{\Delta}(t)\right)^{\alpha+1}}{\left(\alpha+1\right)^{\alpha+1} \left(\gamma(t) \delta(t)\right)^{\alpha}}$$

Integrating (3.21) from t_3 to t, we get

$$\int_{t_3}^t \left[\delta(s) \beta^{\lambda}(s) Q(s) - \frac{\left(\frac{\alpha}{\lambda}\right)^{\alpha} a(s) \left(\delta^{\Delta}(s)\right)^{\alpha+1}}{(\alpha+1)^{\alpha+1} \left(\gamma(s) \delta(s)\right)^{\alpha}} \right] \Delta s \le W(t_3) - W(t) \\ \le W(t_3).$$

Taking lim sup of both sides of this inequality as $t \to \infty$, we obtain a contradiction to condition (3.10). This completes the proof.

Theorem 3.3. Let conditions (i)–(iv) and (2.1) hold. If in addition suppose that there exists a positive non-decreasing delta-differentiable function $\delta(t)$ such that, for all sufficiently large $t_0 \geq 0$

(3.22)
$$\limsup_{t \to \infty} \int_{t_1}^t \left[\delta(s) \beta^{\lambda}(s) Q(s) - \gamma_1(s) \eta^{\alpha}(s) \delta^{\Delta}(s) \right] \Delta s = \infty$$

for $t \geq t_1$, where

(3.23)
$$\gamma_1(t) = \begin{cases} c_1, c_1 \text{ is some positive constant,} & \text{when } \lambda > \alpha \\ 1, & \text{when } \lambda = \alpha \\ c_2 \eta^{\lambda - \alpha}(t), c_2 \text{ is some positive constant,} & \text{when } \lambda < \alpha, \end{cases}$$

then the equation (1.1) is oscillatory.

Proof. Let x(t) be a nonoscillatory solution of equation (1.1, say x(t) > 0 for $t \ge t_0 \ge 0$. Proceeding as in the proof of Theorem 3.1, we obtain the inequality (3.18), which becomes

$$W^{\Delta}(t) \leq -\delta(t) \beta^{\lambda}(t) Q(t) + \delta^{\Delta}(t) \left(\frac{W(t)}{\delta(t)}\right)^{\sigma} \text{ for } t \geq t_2,$$

or

$$W^{\Delta}(t) \leq -\delta(t) \beta^{\lambda}(t) Q(t) + \delta^{\Delta}(t) \frac{\left(a(t) \left(y^{\Delta}(t)\right)^{\alpha}\right)^{\sigma}}{y^{\lambda}(\sigma(t))}$$
$$\leq -\delta(t) \beta^{\lambda}(t) Q(t) + \delta^{\Delta}(t) \frac{a(t) \left(y^{\Delta}(t)\right)^{\alpha}}{y^{\lambda}(t)}$$
$$(3.24) \qquad = -\delta(t) \beta^{\lambda}(t) Q(t) + \delta^{\Delta}(t) a(t) \left(\frac{y^{\Delta}(t)}{y(t)}\right)^{\alpha} y^{\alpha-\lambda}(t) \text{ for } t \geq t_{2}.$$

Now

$$y(t) = y(t_1) + \int_{t_1}^t a^{-1/\alpha} (s) \left(a(s) \left(y^{\Delta}(s) \right)^{\alpha} \right)^{1/\alpha} \Delta s$$
$$\geq a^{1/\alpha}(t) y^{\Delta}(t) \int_{t_2}^t a^{-1/\alpha}(s) \Delta s.$$

Thus,

(3.25)
$$\left(\frac{y^{\bigtriangleup}(t)}{y(t)}\right)^{\alpha} \leq \frac{1}{a(t)} \left(\int_{t_2}^t a^{-1/\alpha}(s) \bigtriangleup s\right)^{-\alpha} = \frac{\eta^{\alpha}(t)}{a(t)} \quad \text{for } t \geq t_2.$$

Using (3.25) in (3.25), we have

(3.26)
$$W^{\Delta}(t) \leq -\delta(t) \beta^{\lambda}(t) Q(t) + \delta^{\Delta}(t) (\eta(t))^{\alpha} y^{\alpha-\lambda}(t) \text{ for } t \geq t_2.$$

As in the proof of Theorem 3.2, we consider the three cases. The cases (I) and (II) are similar, to that of Theorem 3.2 and hence is omitted.

Case (III) : $\lambda < \alpha$.

Proceeding as in the proof of Theorem 3.2, there exists a constant $b_1 > 0$ and $t_3 \ge t_2$ such that

$$y(t) \le b_1 \eta^{-1}(t) \text{ for } t \ge t_3$$

and hence

$$y^{\alpha-\lambda}(t) \leq c_2 \eta^{\lambda-\alpha}(t) \text{ for } t \geq t_3,$$

where $c_2 = b_1^{\alpha-\lambda}$. Using these three cases in (3.26), we have

$$W^{\Delta}(t) \leq -\delta(t) \beta^{\lambda}(t) Q(t) + \delta^{\Delta}(t) \gamma_{1}(t) (\eta(t))^{\alpha} \text{ for } t \geq t_{3}.$$

Integrating this inequality from t_3 to t, we have

$$0 < W(t) \le W(t_3) - \int_{t_3}^t \left[\delta(s) \beta^{\lambda}(s) Q(s) - \delta^{\Delta}(s) \gamma_1(s) (\eta(s))^{\alpha}\right] \Delta s.$$

Taking lim sup of both sides of this inequality as $t \to \infty$, we obtain a contradiction to condition (3.22). This completes the proof.

Theorem 3.4. Let condition (i)-(iv) and (2.1) hold. If

(3.27)
$$\limsup_{t \to \infty} \int_{g(t)}^{t} \left(\frac{g(s)}{2}\right)^{\lambda} a^{-1}(g(s)) Q(s) \Delta s > 0 \quad \text{if } \lambda = \alpha$$

and

(3.28)
$$\int^{\infty} (g(s))^{\lambda} a^{-\lambda/\alpha} (g(s)) Q(s) \Delta s = \infty \quad if \lambda \neq \alpha,$$

then the equation (1.1) is oscillatory.

Proof. Let x(t) be a nonoscillatory solution of equation (1.1), say x(t) > 0 for $t \ge t_0 \ge 0$. Proceeding as in the proof of Theorem 3.1, we obtain the inequality (3.8)) holds for $t \ge t_2$. Now

$$y(t) = y(t_2) + \int_{t_2}^t y^{\triangle}(s) \, \triangle s \ge (t - t_2) \, y^{\triangle}(t)$$
$$\ge \frac{t}{2} y^{\triangle}(t) \text{ for } t \ge t_3 \ge 2t_2.$$

Thus inequality becomes

$$\left(a\left(t\right)\left(y^{\bigtriangleup}\left(t\right)\right)^{\alpha}\right)^{\bigtriangleup} + \left(\frac{g\left(t\right)}{2}\right)^{\lambda}Q\left(t\right)\left(y^{\bigtriangleup}\left(g\left(t\right)\right)\right)^{\lambda} \le 0 \text{ for } t \ge t_{3}.$$

Set $z(t) = a(t) (y^{\Delta}(t))^{\alpha}$. Then

(3.29)
$$z^{\Delta}(t) + \left(\frac{g(t)}{2}\right)^{\lambda} a^{-\lambda/\alpha} \left(g(t)\right) Q(t) z^{\lambda/\alpha} \left(g(t)\right) \le 0 \text{ for } t \ge t_3.$$

We consider the following two cases:

Case (I) : $\lambda = \alpha$.

Integrating (3.29) from $g(t) \ge t_3$ to t

(3.30)
$$z(t) - z(g(t)) + \int_{g(t)}^{t} \left(\frac{g(s)}{2}\right)^{\lambda} a^{-1}(g(s)) Q(s) z(g(s)) \Delta s \le 0.$$

Using the fact that z > 0, decreasing on $[t_1, \infty)$ and g(t) is nondecreasing in (3.30), we find

$$z\left(g\left(t\right)\right)\int_{g\left(t\right)}^{t}\left(\frac{g\left(s\right)}{2}\right)^{\lambda}a^{-1}\left(g\left(s\right)\right)Q\left(s\right)\Delta s\leq0.$$

Using condition (3.27), we obtain a contradiction.

Case (II): $\lambda \neq \alpha$

First choose $\lambda < \alpha$.

In this case, we have

$$z^{\Delta}(t) + \left(\frac{g(t)}{2}\right)^{\lambda} a^{-\lambda/\alpha}(g(t)) Q(t) z^{\lambda/\alpha}(t) \le 0$$

$$\left(\frac{g(t)}{2}\right)^{\lambda} a^{-\lambda/\alpha} \left(g(t)\right) Q(t) \le -z^{-\lambda/\alpha} \left(t\right) z^{\Delta} \left(t\right) \quad \text{for } t \ge t_3$$

Integrating this inequality from t_3 to t and using Lemma 2.2, we arrive at the desired contradiction.

Now, choose $\lambda > \alpha$.

Since z(t) > 0 and $\lambda/\alpha > 1$, from Lemma 2.2 we obtain

$$-\frac{z^{\Delta}(t)}{z(t)^{\lambda/\alpha}} \le -\frac{z^{\Delta}(t)}{z(\sigma(t))^{\lambda/\alpha}} \quad \text{for } t \ge t_3.$$

Then we can write (3.29) as

$$\left(\frac{g(t)}{2}\right)^{\lambda} a^{-\lambda/\alpha} \left(g(t)\right) Q(t) \le -\frac{z^{\Delta}(t)}{z^{\lambda/\alpha}(t)} \le -\frac{z^{\Delta}(t)}{z\left(\sigma\left(t\right)\right)^{\lambda/\alpha}} \quad \text{for } t \ge t_3.$$

Integrating form t_3 to t and letting t to infinity, we get

$$\int_{t_3}^{\infty} \left(\frac{g\left(s\right)}{2}\right)^{\lambda} a^{-\lambda/\alpha}\left(g\left(s\right)\right) Q\left(s\right) \Delta s \le \int_{t_3}^{\infty} \frac{-z^{\Delta}\left(s\right)}{z\left(\sigma\left(s\right)\right)^{\lambda/\alpha}} \Delta s.$$

Since the integral on the right is finite for $\lambda/\alpha > 1$ by Lemma 2.5 and the integral on the left is infinite by hypothesis, we arrive at the desired contradiction. This completes the proof.

For illustration, we consider the following example.

Example 3.5. Consider the second order neutral nonlinear dynamic equations

$$(3.31) \qquad \left(\frac{1}{t}\left(\left(x\left(t\right)+\int_{1}^{2}px\left(t-\tau_{1}\right)\bigtriangleup\tau_{1}\right)^{\bigtriangleup}\right)^{\frac{5}{3}}\right)^{\bigtriangleup}+\int_{1}^{3}\frac{1}{\sqrt{t}}x^{\lambda}\left(t-\tau_{2}\right)\bigtriangleup\tau_{2}=0$$

where 0 <math>i = 1, 2 and

(3.32)
$$\left(\frac{1}{t}\left(\left(x\left(t\right) + \frac{t+c-1}{t+c}x\left(\tau\left(t\right)\right)\right)^{\Delta}\right)^{\alpha}\right)^{\Delta} + \int_{1}^{3}\frac{1}{\sqrt{t}}x^{\lambda}\left(t-\tau_{2}\right)\Delta\tau_{2} = 0$$

where $c > 0, \tau : \mathbb{T} \to \mathbb{T}$ is rd-continuous, $\lim_{t\to\infty} \tau(t) = \infty$ and λ is the ratio of positive odd integers.

One can easily see that the conditions of Theorem 3.2, Theorem 3.3 and Theorem 3.4 are fulfilled for all $\lambda > 0$, and hence we conclude that both equations (3.31) and (3.32) are oscillatory.

or

4. Conclusions

1. The results of this paper are presented in a form which is essentially new and of high degree of generality. It includes as a special case the neutral equation

$$\left(a\left(t\right)\left(x\left(t\right)+p\left(t\right)x\left(\tau\left(t\right)\right)^{\Delta}\right)^{\alpha}\right)^{\Delta}+q\left(t\right)f\left(x\left[g\left(t\right)\right]\right)=0$$

where α and a are as in equation (1.1), $p, q : \mathbb{T} \to (0, \infty)$ are rd-continuous $\tau, g : \mathbb{T} \to \mathbb{T}$ are rd-continuous, $\lim_{t\to\infty} \tau(t) = \lim_{t\to\infty} g(t) = \infty$.

- 2. From the proofs of our results, one may establish new criteria for the oscillation of equation (2.1). The details are left to the reader.
- 3. The results of this paper are new for the continuous case $(\mathbb{T} = \mathbb{R})$ and the discrete case $(\mathbb{T} = \mathbb{Z})$. The formulation of our results for both cases are left to the reader.

5. Acknowledgements

The author Can Murat Dikmen thanks Higher Education Council of Turkey for granting him to study with Elvan Akın at the Missouri University of Science and Technology.

REFERENCES

- E. Akın-Bohner, Z. Došlá, B. Lawrence, Oscillatory properties for three-dimensional dynamic systems, Nonlinear Analysis, 69: 483–494, 2008.
- [2] M. Bohner and A. Peterson Dynamic equations on Time Scales: An Introduction with Applications, Birkhauser, Boston, 2001.
- [3] T. Candan, Oscillation of second order nonlinear neutral dynamic equations on time scales with distributed deviating arguments, Comput. Math. Appl., 62: 4118–4125, 2011.
- [4] S.R. Grace, M. Bohner and R.P. Agarwal, On the oscillation of second order half-linear dynamic equations, J. Difference eqs. Appl., 15: 451–460, 2009.
- [5] S.R. Grace, R.P. Agarwal, B. Kaymakcalan and W. Sae-Jie, On the oscillation of certain second order nonlinear dynamic equations, Math. Comput. Modelling, 50: 273–286, 2009.
- [6] S.R. Grace, R.P. Agarwal, M. Bohner and D. O'Regan, Oscillation of second order strongly superlinear and strongly sublinear dynamic equations, Commun. Nonlin. Sces. Numer. Simulat., 14: 3463–3471, 2009.
- [7] G.H. Hardy, J.E. Littlewood and G. Polya, *Inequalities*, second ed., Cambridge University Press, Cambridge, 1988
- [8] S. Hilger, Analysis on measure chains: a unified approach to continuous and discrete calculus, Results Maths, 18: 18–56, 1990.